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Equation viewpoint:

R,55R3
x +y + z =

- 1

-i+z =1
-

SX +2z =2

↳ W5X +2z =2 3x - y
+z

=1

X +y + z
= - 1

mentedmatrix viewpoint:
I

S
- si!I
R,R3 S



#Addingarticleteaatnow equation)

tryviewpoint S

- z =
- 5!y +2z =10

I I ⑫!
entedmatrixviewpoint

i

I -13

S I
3

I I 0 3 - 1) - s)1-1, I
2 I
->

0 1 2 10

O I 2 10

iii
1 -5)7



raisedhereequations
of the system.

solution space

-

El
Solution space

is

Wjustone point(x,y)
=(tiz)



to (*)e
S

Solution space ->
i
- 2y =

- 1

to (**) is-(x,y) =(=it)
solutionspace



Hef:Ifa row of a matrix
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#:A matrix is in neonform

ifthe following are true:
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